D7 brane cluster

tD, =24
0" 71171 17" _
[0] [_1} [_1} . SU,~MU f\VSUn conventional gauge = enhanced gauge
7 7 7
24 6
D7 =4 % D7
pf= M L L] suaav ional = enhanced SO, = D
77 0 1 _1| UM conventional gauge enhanced gauge <= D,
7 7 7

4 —-1] 0
MIOMS:—IMl(_l): 0 1

24 3
D7 =3 % D7
5

Di = {(1)} [_11} [_11} 1 SUAMUAMU, conventional gauge = enhanced gauge g
7 7 7

24 6 9
D> =D, +2x D
1 1 .
D. = ol 121 4 SUAMI ~MSU,, conventional gauge = enhanced gauge E.
7 7 7
24 6 9 10
Dy =D, + D, + D,

Dy = [0} [_11} [_11} 1 SUAMUAMU, conventional gauge = enhanced gauge Fg
7 7 7



